
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s PUSHPA ENGINEERING, SR NO 11/1 SHANTINAGARLANDEWADI BHOSARI PUNE-39 MAHRASTRA

PUNE Maharashtra is registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Heavy Vehicle Factory CLAMPING DEVICE AXLE TO 6206401055

Description : CLAMPING DEVICE AXLE TO

6206401055 [ENR Registration]

11-11-2019

2 STUD TO 6206401063 Description : STUD TO

6206401063 [ENR Registration]

11-11-2019

3 BOLT TO 6206409023 Description : BOLT TO

6206409023 [ENR Registration]

11-11-2019

4 STOPPER WITH NUT TO 6206509011 Description :

STOPPER WITH NUT TO 6206509011 [ENR

Registration]

11-11-2019

5 RING WITH PIN TO 6206109011[62] 08-05-2021

6 Ordnance Factory Ambajhari PIN DETENT SPRING TO CQA A DRG NO 13046 0

0 AS PER DC NO 36804 A DATED 01 01 2002[00]

13-02-2021

7 SCREW DETONATOR RETAINING TO CQA A DRG

NO 13154 0 0 AS PER DC NO 36804 A DATED 01

01 2002[00]

13-02-2021

8 SHAFT ROTOR ALTERNATOR TO CQA A DRG NO

13048 0 0 AS PER DC NO 36804 A DATED 01 01

2002[00]

13-02-2021

9 PENION NO 2 TO CQA A DRG NO 13015 0 0 AS

PER DC NO 36804 A DATED 01 01 2002[00]

13-02-2021

10 PIN CONNECTING TO CAT SECTION CAT PART

NO 14 5315 001704 AND DRG CAT NO 23705[00]

13-02-2021

Page 1/4



11 COUPLING SHAFT TO CAT SECTION AND CAT

PART NO 14 5420 000020 AND DRG CAT NO

23710[00]

13-02-2021

12 Vehicle Factory Jabalpur WHEEL BOLT M 22[90] 15-03-2021

13 BOLT M10 70[90] 15-03-2021

14 T BOLT CLAMP[90] 15-03-2021

15 SHACKLE PIN[90] 13-03-2021

16 U BOLT REAR SPRING[90] 13-03-2021

17 U BOLT FRONT SPRING[90] 13-03-2021

18 LPTA U Bolt with Nut[90] 13-03-2021

19 LPTA SPRING SHACKLE PIN[90] 15-03-2021

20 LPTA SPRING PIN[90] 13-03-2021

21 FORGING FOR PIN[90] 15-03-2021

22 SA OF HOSE TANK 2 TANK 1 FOR ASSY FUEL

PIPING[90]

13-03-2021

23 FRONT TOE PIN ASSY[90] 13-03-2021

24 U BOLT FRONT[90] 15-03-2021

25 U BOLT REAR[90] 13-03-2021

26 PIN[90] 13-03-2021

27 HEX BOLT M20X50 IS 1364[90] 13-03-2021

28 BOLT M20X45 MODIFICATION DRG NO OFPM 640

01 6081 1 A[90]

13-03-2021

29 BOLT M12 X 1 POINT 5 X 125 PART NOL1011225

IS 1364 92 PT I P 8 8[90]

13-03-2021

30 HEX HEADED BOLT M 12 X 1.75 X 50 MM[90] 15-03-2021

31 COLLAR TYPE HEX HEAD BOLT[90] 15-03-2021

32 HEX HEADED BOLT 1/2[90] 15-03-2021

33 Ordnance Factory Chanda 0133030114 MS PLATE SIZE 6MM[01] 20-03-2021

34 0133030109 MS PLATE SIZE 25MM[01] 20-03-2021

35 6121000194 CAP PT.NO.2-4 & SMALL CUP

PT.NO.2-5[61]

20-03-2021

36 6432300008 MS PLATE 3MM TH PHOS ERA[64] 20-03-2021

Page 2/4



37 0133030116 MS PLATE SIZE 1200 MM[01] 20-03-2021

38 1410052010 CUP AND CAP FOR FUZE B429E[14] 20-03-2021

39 6333800330 PLUG WITH FILAMENT BRIDGE

BUSHING[63]

20-03-2021

40 0133030112 MS PLATE SIZE 1100[01] 20-03-2021

41 0133030115 MS PLATE SIZE 400[01] 20-03-2021

42 0133030113 MS PLATE SIZE 450 MM[01] 20-03-2021

43 6330901200 SADDLE ASSLY TO DRG NO HE CAST

021 DET 1 CONSISTING OF 4 COMPONENTS TO

DRG NO HE CAST 021 DET 2 TO 4 AND ALLEN

SCREWS M5 X 5 AND QAP NO HEMRL HE ADD 08

01 REV00 OF 09 2008[63]

20-03-2021

44 6330901100 DETONATOR HOLDER FOR SHAPED

CHARGE 90 MM TO DRG NO HE CAST 018 DET 5

AND QAP NO HEMRL HE ADD 08 01 REV 00 OF 09

2008[63]

20-03-2021

45 6330901000 SHAPED CHARGE 90 MM E ASSY

CONSISTING OF 2 COMPONENTS TODRG NO HE

CAST 018 DET 2 AND DET 4 AND QAP NO HEMRL

HE ADD 08 01 REV 00 OF 09 2008[63]

20-03-2021

 

Registration No. : ADOPV1931G

Initial Date of Registration : 11-11-2019

Downloaded at : 24/09/2024 10:49 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

Page 3/4



participation in Tender process only.

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of 

 

Powered by TCPDF (www.tcpdf.org)

Page 4/4

http://www.tcpdf.org

